1.

interface X{


int x=1,xx=InitInterf.out("xx",2);

}

interface Y extends X{


int y=InitInterf.out("y",3),yy=InitInterf.out("yy",4);

}

interface Z extends Y{


int z=InitInterf.out("z",5);

}

class InitInterf{


public static void main(String[] s){



IO.writeln(Y.x+" ");



IO.writeln("++");



IO.writeln(Z.y+" ");



IO.writeln("++");



IO.writeln(Z.x+" ");



IO.writeln("++");



IO.writeln(Z.xx+" ");



IO.writeln(" "+Z.z);


}


static int out(String s, int i){



IO.writeln(s+"="+i);



return i;


}

}

2.

interface A{

   int x=1; void scrie();

}

interface B{

   int x=2; void scrie();

}

class C{

   int x=3;

   public void scrie(){


IO.write(A.x+" "+B.x+" "+x);

    }

}

class D extends C implements A,B{

   int x=4;

}

class Interfete{

   public static void main(String[] s){


D ob=new D(); ob.scrie(); IO.writeln(" "+ob.x);


A ob1=new D(); ob1.scrie(); IO.writeln(" "+ob1.x);


B ob2=new D(); ob2.scrie(); IO.writeln(" "+ob2.x);

   }

}

3.

interface W{char c='a';}

interface X1 extends W{int c=1; void met();}

interface Y1 {boolean c=true;}

interface Z1 extends X1,Y1 {int c=99; void met();}

class C1 implements X1{

     public void met() {IO.writeln("++++++");}

}

class D1 implements Z1{

     public void met() {IO.writeln("******");}

}

class Interfete1 implements Z1{

     public void met() {}

     public static void main(String[] s){

       C1 Ob1=new C1(); Ob1.met();

       D1 Ob2=new D1(); Ob2.met();

       int c=-88;

       IO.writeln(c+" "+W.c+" "+X1.c+" "+Y1.c+" "+Z1.c);

     }

}

4.

interface X{


int x=1,xx=InitInterf.out("xx",2);

}

interface Y extends X{


int y=InitInterf.out("y",3),yy=InitInterf.out("yy",4);

}

interface Z extends Y{


int z=InitInterf.out("z",5);

}

class InitInterf{


public static void main(String[] s){



IO.writeln(Y.x+" ");



IO.writeln(Z.y+" ");


}


static int out(String s, int i){



IO.writeln(s+"="+i);



return i;


}

}

5. 

interface X{


void x1();


int x2();

  }

class CX implements X{

      public void x1() {IO.write("x1 ");}

      public int x2() {return 1;}

  }

class C implements X{

      X ObX=new CX();  

      public void x1() {ObX.x1();}

      public int x2() {return ObX.x2();}

  }

class Mult1{

  public static void main (String[] s){

  C ObC=new C();

  ObC.x1(); 

  IO.writeln(" "+ObC.x2());

  }

}

6.

interface X{


void x1();


int x2();

  }

class CX1 implements X{

      public void x1() {IO.write("x1 ");}

      public int x2() {return 1;}

  }

class CX2 implements X{

      public void x1() {IO.write("x2 ");}

      public int x2() {return 2;}

  }

class C implements X{

      X Ob1,Ob2;

      C(X Ob1, X Ob2) {this.Ob1=Ob1;  this.Ob2=Ob2;}

      public void x1() {Ob1.x1();}

      public int x2() {return Ob2.x2();}

  }

class Mult2{

  public static void main (String[] s){

  X Ob1=new CX1(); X Ob2=new CX2();

  X Ob3=new CX2(); X Ob4=new CX1();

  C ObC=new C(Ob1, Ob2);

  ObC.x1(); IO.writeln(" "+ObC.x2());

  C Obd=new C(Ob3, Ob4);

  Obd.x1(); IO.writeln(" "+Obd.x2());

  }

}

// program citire/scriere IO

import java.io.*;

public class IO {


static InputStreamReader reader=



new InputStreamReader(System.in);

  
public static StreamTokenizer f=



new StreamTokenizer(reader);


public static double read() {



try {f.nextToken();}



catch(IOException e) { }



if (f.ttype==-2) return (f.nval);



else return (Double.NaN);


}


public static char readch() {


   try {return (char) System.in.read(); }


   catch (IOException e) { return '#'; }


}


public static String readString() {


   try {f.nextToken();}


   catch (IOException e) { }


   if (f.ttype=='\"') return (f.sval);


   else return ("****");


}


public static void writeln(String s)



{System.out.println(s);}


public static void write(String s) {System.out.print(s); }

 }
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